
フッキー計算ドリル

かけざん・わりざん１

3年　　組　　番　名前

① 30 × 2 ＝ ② 40 × 3 ＝

③ 40 × 6 ＝ ④ 80 × 5 ＝

⑤ 70 × 30＝ ⑥ 60 ÷ 2 ＝

⑦ 80 ÷ 4 ＝ ⑧ 120÷ 6 ＝

⑨ 280÷ 4 ＝ ⑩ 400÷ 5 ＝

／１０ 分 秒



フッキー計算ドリル

かけざん・わりざん2

3年　　組　　番　名前

① 400× 2 ＝ ② 300× 3 ＝

③ 600× 4 ＝ ④ 500× 20＝

⑤ 400× 50＝ ⑥ 800÷ 4 ＝

⑦ 3600÷ 6 ＝ ⑧ 7200÷ 9 ＝

⑨ 4000÷ 5 ＝ ⑩ 6000÷ 6 ＝

／１０ 分 秒



かけざん・わりざん１

答え

① 30 × 2 ＝ 60 ② 40 × 3 ＝ 120

③ 40 × 6 ＝ 240 ④ 80 × 5 ＝ 400

⑤ 70 × 30 ＝ 2100 ⑥ 60 ÷ 2 ＝ 30

⑦ 80 ÷ 4 ＝ 20 ⑧ 120÷ 6 ＝ 20

⑨ 280÷ 4 ＝ 70 ⑩ 400÷ 5 ＝ 80



かけざん・わりざん2

答え

① 400× 2 ＝ 800 ② 300× 3 ＝ 900

③ 600× 4 ＝ 2400 ④ 500× 20 ＝ 10000

⑤ 400× 50 ＝ 20000 ⑥ 800÷ 4 ＝ 200

⑦ 3600÷ 6 ＝ 600 ⑧ 7200÷ 9 ＝ 800

⑨ 4000÷ 5 ＝ 800 ⑩ 6000÷ 6 ＝ 1000


